q}f}éa bectmirzna — ALGEBRA — Koamibovka O | Lopes

Aod A “79 P wheadtee ROWNGA AN Rafce'nose’ ©OF /efﬁ @ oz grenic

p-4 1 )'Df-'l, P A

P14 pra  p 1
U= LAIB) = o pr2 ®) 3 pr8|l—= | 0 pa O 3 | p15
9 _ P
p-2 2 pth e?P+—Z. 5 | Nsdy| O o =P 2 3
p~ 1 pth P> 5 mewal O o ) Y
N4 P P2 A -.7-4 A9 pri|A P14 Pra |4
I ?O $+2 3 0 || L 0 12 5 O [3+5 o 9 32 f:’: o prs | —=
o o 2 ¥ 0 o Mo o 4 ap | | Meaes
O O 3 0 0 0 a -7 3
X oM
&) € R\W4,-2,~
P '3
R p=4 oggg;}__’ 0An>|1
o 0o -
0 0 4 B |s |Yaiv %0,1 7 Unad spriag
00 O0-A41 | © 0 0/
@ P - -3 4 -2 O; 41% o (A)=a ()= D WuCad ICON. /lfarqrmc//
oo 4 O |~
00 0 ta]4]
@ ?-‘—"’1/3 T OutGtnie rOunanc Spricear - Qi . spercezny
Zad.Q Gy = A la 4 |«
{ 2 X—y =a ae R U=TA1B) = 3 \|a et U= -a*+2+ra+rd-a’-2a
Xty =@ 1Y =-20%-a+3 < - (23 (g-1)

016*2‘-{4,'/_1_} ale)=3F o (r)
@ a) YarA ouwe- spacaay

@ '6) Uhe, 02200y <=2 e (Ay<a ()= 2 ' <=> a#M”?‘“%

2 -1
@ c) FAER T auul. nreornacomy a (AL m=2  preanxine )/l {#O

~4
Xad. 3 et ¢ - (x+21) 8% 4 D! pTc82=0 BCbeMy(R) micosobanc

D-aa-tryogrmﬂydaﬂd <=> T= -D

-

il (s -4 000
C= La) ; Ctj={ 9 ;%Y C|o-300 otk C= 242 = 2y
TSH VY 0 0 -20
000-1
B- A3 20
10 3 40 Bounngnc oma pouta
© 020
Voo

24 ()H.?I)-'fblu:_b-ibT c4 8 - c4p3 /_5—9

4000 -4 T 4
0036 D4 (x+21) =B 2 (3¢) J
NO 1920 X+21 =[4_ +)~1 = =27+
/0’%5/10 op=39 [_,,, /bC)J Xx= RI*248C
0.20
09457 000

- hg20 2000
x= -an | 8481 14
000



%4-4 f/;'”., 1”‘*‘2._7 ~Z+ 2O 6-‘ x:-éj—zez-wf
Paz (O %2)

17’0‘-‘[-57'4/‘)
A - reut vkasiny Po na € w Eicruntu B
L x-o -(-1) - (-1) cd 1 xe O +% )
. 7 = ﬁb_z&_.—-: & 4 a/=£4/"-?|4)//c l,'[9=_4 "'é{t. ,'te//?-
’e//,)?/ P, et ,@;{": 5 -5

Y= -4 -25 SER

Z= 6 -3s 4t =5-5 {=5-5
AAEE2T) {' ~ft=-an2s 44225
Ak s=4 A= (4,—3) 3) “N+t = 6-35 “AN+d :6—5_5
=55 A 4= b4s => S-s=hbs 5525 521
t=5-434 0 O G s
C- Puais  Syamctrysany oo 2, wzol - 77 7 5)” A+4 AN+4= 3= 6-35763
-C (xz O+t Tpnom = §59
1 "\\ M) ye 2 var TR holhe)y +2[(3+2t) = (3-t) #2= O
N P 03 €214 Abt +6+4t -¥+t+>z--‘og 2
™ ® L, =L 4,2 Mb==b6 A Ty
3‘(‘—— -4 912\, (& 42 L
T (sys (58, 2k s 31573,03)-05.:8/%)
CT5 3)=(337, 77,373
A

A
)

2
7 %= (-8, -4 2
564-,»5/"?;7) L i



